In England  7% of children  attend  1__ schools.   _2_ schools and _3_ schools  are fee paying.   93% of children  attend _4__ schools  , which are  _5_ . Pre- school education is _6_.  Children must  attend _7_ and _8_ schools. School education starts at the age of _9_ and finishes at _10_ . If pupils enter a _11_  school, they _12_   an _13_ exam. 
In England  of 93% children  attend _1__ schools  , which are  _2_ . Only 7% of children  attend  3__ schools.   _4_ schools and _5_ schools  are fee paying.   Pre- school education isn’t _6_.  But children must  attend _7_ and _8_ schools.  School education starts at the age of _9_ and finishes at _10_ . Secondary education is provided by _11_ schools/ There aren’t _12_ exams. If pupils enter a _13_  school, they _12_   an exam. 
There are two types of schools in Russia: _1_ schools, which are _2_ and _3_ schools, which are _4_ paying. Pre- school education is _5_.  Children must  attend _6_ and _7_ schools.  School education starts at the age of _8_ and finishes at _9_ . You must _10__ exams to get _11_ and _12_ education. 
In Russia 99% of children  attend  _1_ schools.  These schools are _2_ paying. Only 1% of parents pay _3_  because their children attend _4_ schools.  _5_ education is provided by kindergartens and  it isn’t _6_.  Children must  attend  _7_ and _8_ schools. School education starts at the age of _9_ and finishes at _10_ . At the end of Year 9 & Year 11 Russian students _11_ National Exams. 
In England  7% of children  attend  1__ schools. In Russia 1% attend _2_ schools. Both in England and in Russia most children  attend  3__ schools, which are _4_ paying. Kindergartens provide _5_ education, which is _6_. School education in England starts at the age of _7_ and finishes at _8_ . And in Russia it starts at the age of _9_ and finishes at _10_ .   School education is _11_  in England  and in Russia.  English pupils _12_ four national exams but Russian only two. 
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